0000 Ionoooo
20150 408000 OO O

00 1: 000000000000 NNO000O0DO0bO00DO0ooDOO0 IobO0boooooon
ooo0obOoooOOobOoOoboobo lIooboobooboO0obOoboobOoooboobooo
ggobbooooboboooooobbooooboboboooooboooobobooog
00000Oo000O00Oo00oO0ob0ooDO0O0ooOO0DOOo I0D0obOOo0D 10b00boO0oDOoDOO

002 0000100000000 00DO0O0OO0OO0ODOO0OO0ODODOObObOODODO
guobboboooguoboboooooobboooooooboobobobbboooooobonog
[40000000000000000O00D0O0O0OO0ODODOOLUO0O0OOOOOOO
ggoboboooooboooobboooobbboooobbbooobLboboooan

HEN
1 goboboooooood 2
1.1 O000000 .. e e e e e 2
1.2 O000 . e e 2
1.21 O0O0OD0 ..o s 2
122 O000D00OO0O0O0OD00O0O0O « ..ot e e e 2
1.3 O00OD0 . . e e 3
1.4 0000000000007 @ ..ttt )
2 gobobooogooo 5
21 0000000 ..o e e s e 6
22 00000000 ..o oo e 8
221 OO0O0 ..o e e e e 8
2.2.2 OO oo e 8
223 OO oo 10
23 0O0D0O0OD0OODOODOOOODOODOO ..o oo 12
23.1 DO00O0D00OD00O0 . .00 oottt e e e e s s s e 13
24 00000D00O00ODO .. e e e s e e 14
3 goobooogooo 17



3.1 00000000000 .. e e e e e 17

3.2 00000000 ..o s e e 20
3.2.1 OO .« o 20
3.22 00000000 O0OOO0ODOO0O0O ..o oo 21

3.3 00000000 ..o i e 23

34 JOO o e e 24

3.0 0000000 ..t e 25

gooo 25



1 DO00oOooooooooo

gb: bdgoboobbobooooobobbbbooooouobobboboooooon
gogoooood

1.1 O0O00O00O0Od

l. 00000 O0o0oboobobooobon
gobobooooobooooboobooon
2.00000000000D000

mJggoooo: bobdooooooboooboooooooobbooo@moooog
ooooboooboobooogoboobgDlooobooooobooboobooomo
goobboooobbtbooobobbdooobobbuoooob bbb bboog
ggobobbooooboboobuooooobooon

OOob0o0obO0o200000000b00000DO0bOOo0oOOoDO0bObOOobObOOoDOoDO
gooddomoooooodioUuo @
ggoboboooobobboooobobboooobobbuoooobbboooobnbboon
oo00d2000000 boOooOO0obOO0ObOOO0OODOobOoOoOOoDOOobObObOOobDOooboOoo
gooooog

12 0DOOO

121 0000
0100000000 /6000000000000 0000000 ROOOO
0:00000 X;00D00000O0OO

00 (X)=> X;P, (1)
00 AX:X%-—(X)DDDD
((AX)%) = (X = (X))*) = (X*) = (X)? (2)

122 0000OD0O0O0ODOOOOODO
O: gooooooooo



000000000000 dy00 de0OD00O000DOdedy000000DODOO
0000000000 000000 dedy00O00O0O0O

00000 p(z,y)000

000000000000 p(x,y)dedy 0000000 p(z,y) DOD0OO0ODOOO

000200000000 {X,}={X1,X,,..}00000X,0 2,0z, +dz; 00
X0 zo0xy+dey --- 000000 dayda--- 0000000

00 = p(x1,22,...)dr1dxs - - (3)
oooo
p(r1,z2,...)00000000000O0DOOOO0O

goooo

[ ot bdaides - =1 (4)

O0:f({z,}) = f{z1,22,...}) 0000

(f{zu}) = /f({%})p({ﬂfu})dxldﬂfz a (5)

001 0000 LODDOD00000000000000 (0000 p(z,y)=0000
0000 p(z,y) =0)00000000 r=+/22+42000000000 p(r)
00000L — 0o0000p(x,y) o expl—a(z? +4?)] 00000000000
a>00000

0O 0000o0b0o 20000
OoOOo0l10b0o0bO0obo0obobobobooobon

p=p(r,v) (6)

1.3 0000

gobboooobobbooobbtboodbbboodobbboooubbbooon
ggoboboooobobboooobobboooobobbuoooobbboooobbooog



oobooboboooboooobooboboobooboboooboooboooD1aooo
ob20000000000
NOODODOOODOD 30000 z,y,200000

(dddooooa ri:(xi,yi,zi) 1:1,,N
(000000000 p = (p%,p,p7) i=1,..,N

Oo0eNDOOOOOODOODOOOOe6eNODOOODOOOOODODOOOODOO
goo0OdoeNODOOOOODOODOODOODOODOODODODOODO

OooeNODOOOO {Qlapl}:{Q1a"'7q3N7p17"'7p3N}:{x17y17"'apf7"'}|:|
goooooo
6NDDDDD(DDDD)DDDDD

{g,p} — 000000 10
1001000000020 p0 200000000

O: 100000 1000000

/4 .
N g
Zo
goooood D
mv___?
|
| . T
Zo
goo0ooo0o0ooouoooogogggoog
O: OoonO
2 2
P kx
H = — 4+ — 7
(v,p) = 2—+ = (7)



000000000000000000000000000000000000000
H=H({q,p}) 0000

1.4 00oO0oOoOooooooa?

oo 0boboogobboodooboodgn

6N 0000000000000 0000000000000000000000000
ooooo

000000000000000000007100000000000000000
0000000000 p=p({q,n}) 00000

O: 100000 1000000
0000000000000 000000000000000000AxO00O0O

p

A

p="
/AR . y T
o > >
e r<ao+ 2F
Xro — — X X —_—
D) D)

AN

g

T

obobo0 =00000 1000b00n

!

ooooo «—aoooo

ggoboboooobobboooobobboooobbbouoon

2 000OO0Ooooooon
00:0000000000000000000000000000000000

e O UIUUODLDDUUOUODDLDUOUUDDObOOUUUDDLDO



goboboooobobboooobbooon
goobboooobbbooobobboooobobboooooboa
0000000000000000 N(NDODOOO)OODOooDooooooo
gobboooobobboooobobooon

21 0DOO0OO0O0OO

o0T7ThO00000O0ODOO0OboOoDoOoD

O 0o (0O T)

ggoboboooobobboooooobbdooobobobuoooooboooobbooog
ggobboboooobbbooobbbooobobboooooboboooobboood
gooboboooobbbooobobbdooobb bbb bboog
ggoboboooobobbooooboboboooobobobuoooobobboooobbooog
gooboboooobooobooooooo

gogobobbooooooo



gogoooood

e II0IDOOOOODODODDO(DOULOUUDUUDOUODLO)OOODO
OO0bO0o00O0bOO0bOOo0obO0obOoobOgobooToooDonooo Vvooo
goboboooon

e J00IDDDOUD (DDD)DDOUOOUDDOODDOOUOO

goo {ql,pl} lzl,...,?m
0o {at,m} 1=3n+1,...,3N

e II00I0ODODDOODLD3ODDODOODO

Hr({q,p}) = H{a,p}) +Hp({q, p1}) +V{a,m})
O 00 ooono

I=1,....3n l=3n41,....3N 1=1,...,3N
(8)
0oo00V{{a,m})~0: 000
D0O0Hs({g,m}) O V{g,p}) D00D000D0D0O000000O
H({q,»})00000D0000000000

e 00D0D0D0D0D0D00O0: Hr({qg,m}) = Er

0000000 H<<OOOOOOOO Er 9)

ooooo
0@oo)0o {g,pm}i=1,...,30000000 p.({g,p}) 00000

0o (0oo)
0000000000000O0

1 _
pe({a, pi}) = Z—e BH({qi,pi1}) (10)

0000Z,0000000 (400000ooooood

Zzlzzj/eﬁﬂwanmnodqﬂﬂh...dpl... (11)

gogoobobboooooobbbibld —coUocciOogooonobboooong
ggoboboooobobuoooobbboooobbboooobbbooobboboo
1

B= k’B_T (12)

8



kg OODOODO ROODOODOODODOODOOOODODOODODOODODOZ,DOO
OO0 000000 nOOOOOOO

22 0JO0ODOOO0OO0OO

221 0OODOO
OOooboobobOooooboooboboooooooobobDoooobDOooD1a
goobboooobbtbooobobbdooobob bbb bbb bbooog
ggoboboooobobbooooboboboooobobboooobbboooobbobooog
gogobboogooobuoooooboooooo
gdoboboooobobboooobbtbooobobboooobboooobbooon
ggoboboooobbboooobbbooobobobooon

222 00
m0000000O0O0O0O0: ODOOOOOOoOOobOOooOUvUbOOOOobOOobOOobDOooUO
0000000000000 0000*0000000000000000000000

O0:1000000000000DO000DbO0DOO0oO0bDOo0oDb

oo0oooobobOoovbobobOO0=00000b000b0DbOoOobDOoOoOo1lbOOoOooo
ooooboovrvoboooobooboooooboboooooboooo
000000000000 0o0O0O0CyOD00DOOODOOOOOO

00o00o(---)y 0000000000000 0OD00O00O00O0OO0OO0ODO0ODO0ODO0O0OO0
ooorvoooO T Toobooobooooooon

s j0o0o0o0ogooobooooooobn: ooobboboooobbbooooboboa

U= (H) (14)

goobboooobbboooobbboooo

*1l0D000000000000000000000000000000000000000000000 [2]
gbogoboooooboobobobon



ooooo:
D000HOO0O00O0O0000000000000000000000000000
00000000000U=HO000000000000000000000000
000000 [1)0000000000000000HO (H)DDO0OO000000000
afalalalulululululalals

HO (H)OOODOOHO 10000000 (0000)000000000(H)O0
0000000000000000000000000000 HOOOO (HYOOOO
000000000000000000000nO00000e"00000 (0000)0
000000,00000000000000000000 0000000 100% 000
000000 HOOOO (H)OOOOO

000000000 00000O0OO:

0000 (b0oDo0oO0o0)0U0o0oL0DOooOoUoo
ggoboboooooooboooan

(14)00000000000000000000 (0)0

(l4)000000000D00000DO0O0OO0O00O0ODO0ODOO

U= /H({m,pz})pc({m,pz})dqldfh"'dpl"' (15)
::Z%;b/"f{({thn})eﬁfu{thﬂ>dq1dq2...dp1... (16)

_ L/_Qe—ﬁHqu,m})dqld%...dpl... (17)

Zn ] 08

::_‘Z%Zég§ e=BHU@D dg1dgy -+ dpy - - (18)

:'_2%25%2%' (19)

_ _%mzn (20)

0000Z%,0 4000000000000000000000000

U= —%ann (21)

002 007TOODODODOODOOVOODOODODO NOODODOODODOOOO Zy
OO0oobOoooOovbOOo0obo0ooOobOOobOoboobooooboDobobooooo

10



goooooon

H=Y pil” (22)

223 OO
gdoboboooobobboooobbtbooobobboooobboooobbooon
gooboboooobbbooobobbdooobobbuoooobbboooobbboon
00000060000000 10000 100000000000 ¢=9¢(x—L)0O0O
O0000O0z0000 t00D0OOLDOO0ODOOOOD x0O000OO0DODOOODOO

googooooood
op(x — L)  O¢p(x — L)

T or oL (23)
gddodono
Op(x — L)
e (24)
0000 og Foo
N
0¢(z; — L)
=N 20T 2
; oI (25)

gogobobboooooobouoooooon
goboboooooboboooobobooooobbboooooboogn

() = <Z—W> (26)

1=1

N
L[y 0p(xi = L) _pH({q )
= E/i—l a1  °© WP dgrdgy -+ - dpy - (27)

00000000000000000000000000 Ho({q,m})DODODO

N

H({q,pi}) = Ho({q,pi}) + Y éla; — L) (28)

%

oo
_9H({q,pm})

F= oL

11



gooo

(F) = _% Wﬁﬁm{q“m})dmdqz coodpy - (30)
_ _% _%%e—ﬁm{ql,m})dqld@...dpl... (31)
_ %% (% / e=BHUDLD dg day - dpy - - (32)
_ 6%8%2 (33)
::%g%anN (34)

000Zy0 LOOO0OV =SL—-L)(S000000L, 0000000 z00)0
ooooooo

0 av o
0
gooooo
<F>—Sl 8IZ (37)
~7pov N
goooooooboooooooooao
{F)
P=--—=
- (3)
agoooo
10
P=-—"T1nZ
Gy AN (39)

0000000000 0: oooobobobobooooobobooooooobon
0000000 Avooooooooooooo wooooo

P= (40)

AT

(33) 000000 o0oooooooUoUoDO (O0)o

003 00VOoooooooOooOoOoOoOoOoOoOoOoOoOoOo (39)00ooooooo
000000000000000(22)0000000Zy 0000 2000000
gooboogd

12




23 00D0OO0O0DDOO0OOOODDOOODOOOn

2200000000000 n0000

)
- %z, 41
U o5 n ( )
19
P==2 1z, 42
gov " (42)
0ooooooo
Z, - / e BEULPY) gy dgy - - dpy - - (43)
]
InZ, (44)

ggooboboooobbboooobbboooobbbouoooonoo

Z,. 0000
F=—-kgThhZ, 00000000000O00O

DDDDDDDDDDDDDDDDDDD(41)DD(42)|:]DDDDDD|:||:|
85F)
U= 45
(85 ) (45)

s 000000000DO0ODOO0ODOOO0OOODO: DODODUD POOODTODOOVOO
0000000000005 00 46) 0000000000000 0 FOOOOOO
000000000005 0000006 000000000000 0O0OODOO0
oOooToOVODOOODOOoOOODODO0O0OD FOOODODODODOOODODOODOOODOD
ggoboboooobobboooobobboooobobbuoooobbboooobboOoog
ggoboboooobobooooobod

13



s 00 oO0o0ooobboooobboo0bbbouobb: bboubbboooo
ggogoboobooboboodooooboobbotbooooooobobobboooooooooo
ggobobooobobbuooooboboooboobooood

000500 (46) 0000000000000 0O0DOOODDOODDOOODOOOO
ggobobooooboboboooooboo

00: D000 (000000000 10000000)00000O00O000 AD
00000 BOODODODOUOOUODOOOOO (DO)oOooOO

ggobboooobobboooobobbooobbbuooonoboboogn

0O 00A0O0OOOBOOODODDODOOODOOODODODOODOODOODODOODODODO
goobboooobobooo
ggoobooobodoooooobooboboooooooooboooooooooo
000000000000 ooooo (Do)O

231 000DOOODOO
(22)000000000000%, = 2rmkgT)*N2VN 0000

N
F = —%kBTln(QﬁkaT) — NkgTInV (47)

m00: DOOO0Ooooooboodobbooobooboooaod

OO0D000 FODOODODODOODOO:
OO0VOaOO00ODO0ONDOD O ooNOOOOOFO FOO00O0O0OO

0D00O0F=F(T,N,v)00000

F(T,aN,aV) = aF (T, N, V) (48)

0000000000000 00000 FOODOOOOODOO@)ODoOOOoOOoOOo
0ooooo0oooooZz,0vy¥Nooooooo

F—F =F+ NkgTInN (49)

O000F 0000000000000 000000000000000O0O00000

goao
Z,
n 7 === 50
— 4y N ( )

14




ooooooooN! "= (N/e)Nooooo

e~ BH{q,pi})
7, :/qu1dq2"'dp1"' (51)

0000oO0bO0o0obO0oO0obOo0ooOO0DOO0obOo0obOO0ooDOobOoOoDbDO hOODOOo

6_6H({ql yPl })
Zn:/wdﬂhd%'“dpl‘“ (52)
00oo0oooOooo@G2)0oo0o0oo0o0o0oouo0ooo0oo0o0 FOoO

oooNOOODOOOOO

3N 2mmkgT eV
24 0000000000
FOOOooooooo
OF\ _dd (0 pF
(o), ~ir (555), o
B 1 6F U
(7 5) )
F U
=TT (56)
ooooooooo
U F
S:f_f oooooo (57)

00000 0O0O0O000O0: boobooboobobbooboooboobobbbbboooooooo
ggoboboboooobobbouoooobobooon

0000000000 000 (D00000000)0D0O0000O0DO0O0DOoOO0O VvV
OVoooD ToOTooOoooOoooOoooOooooooo S=8(T,v)oo
S(T',vHYOoooooooooooooo

S(T', V') > S(T, V) (58)

gobobooooboboogoobobooooobobobuoooooo

15




gooboooobbboooobbtboooobbboooobboooobbbooon

gogobobooooooboooda
SouUuoon

95\ _ 90 (U _ 09 (F
ou), ou\T), au\T),
1

ggoooooooo

(56) 0000

S000 (57)00

goodggo

OF
(W)T =

OF
(a—T)V =0

dF = —=5dT' — PdV

gogooobooooon

O0ooooguU=TS+FODOOO

oUu
(W)S =

16

(59)

(60)

(64)

(65)

(66)

(67)

(69)



ogn

oo 2

ogn

oo 4.

0
(),
000
dU = TdS — PdV (71)
00
(69)00 U=TS+F0O (66)0(67)00000000000000(68)00

gogoooooog

17



3 DO0o0Oo0oooooon

gb: oo bobbtboboooobbobbooooouobobbboooooon
gogobobooooobooo

e 00D0DDDODDODD
e JOOOODOOO

e 0DD0ODOD

e J00D0DJOD (DODODODOOD)

o dF = —SdT — PdV + udN O d.J = —SdT — PdV + Ndp

31 J00000DD0OO0oOoog

00T7TOhO00O0O00O0ODOO00OO0O0DOO0OOOO0OODOO0ObOOODOOobDObOO

00 (0O T)

0000 (00000000 p)

gogooog

00000U0o@Uuooouooooon)

e 100000000000000000(000)000000000O0
e 0 (00O0)00D0O0O0O0n

18



gogoooood
e JOOOOODDOO

e JO0OUOOOODODOO

Hr{q.m})= H{a,m}) + Hs{a.m}) + V{Ha,m})
0 00 +0000 0000

(72)
0000 H{q,n})0000000000000000000000000
0000000Hg({q,p}) 0000000V q,p})~000H{ q,p})
0000000
e 0000000000: Hr({g,m})=Er>>0000000 H
e J0DJDDD: N>>0000000 n
e 007000000000 p

goooo

0(000)0000-0000000000000000000000 {4q,pi},0l=
1,...,3n 0000000 pg({@,m},n) 00000

0o (0oo)
000000000000000000

1 e~ BH{a,pi})+Bun
pe({a,pi},n) = = k3N (73)
oooo
AR
== Z o /e—ﬁH({qz,pz}HﬂundqldqQ codpy - (74)
n=0

ggoobobbodoooobobobobbodooobobbibiod —co ool
0000000000 0D0D0boOooO0oDg N—-ooODOODO

(1]

= 1
= Z i /e—ﬁH({qz,pz}Hﬁundqldqz coodpy - (75)
n=0

E000000O0ogo

19



OoobOd zZ, 00000

== Zn (76)
n=0
0Do0o
1
Z - njhgnu/1e—ﬁfa{thﬂodq1dq2...dpl... (77)

1/ 0000000000000000000000000
nO {g,p}00000000000 X({g,p},n) 000000

(X) = Z/X({Qlapz}a")Pg({(Jupl},n)an (78)

0000dl, =dgqidqs .. .dgspdpidps .. .dps, 00000 X({q,m},n) 0000000
0000000 HOOOOODOOOOHODODOO nO00O0O0O0O00O0OO0O00O0O00OO0O
00 nD000D0000H =H({q,p},n) 00000HO0D0 UDOOO

U=(m =Y / H({q pi} m)py({ais 1}, m)dT, (79)
n=0
(73)0000000(16)-(20) 00000000000
8ﬁJ>
= (222 (80)
( op Bu
goddoooood
J=—kpTIn= (81)

0000(@---/0B)s, 0 (73) 00000 p,({g,m},n) 0000000000 Bun O
guO00000 400000000000000

005 (80)00000000

000D0(25) 000000 FOO{g,p}0n0000000F =F{q,p},n) 00
000X{aq,m}t,n)=F{aq,m},n) 0000

(F) =" [ Fllaumbmloy (i pi) m)ds (52)

20



(25)00 (73)0000000(30)-(34) 00000000000

=——1InE

3 0L
O0o00oOo0ooooo=En V:S(L—LO)DDDDDDDDD

1
= S—ilnE

3oV

00000000000 38)uoouoog

oJ
-3
ov ).t

ooooooo (@---/0V),r 000000 7000000000
006 (83)00(84)00(85) 00000000

Oo0O00n0OO00O00DO P, OO

Py :/Pg({%pl}an)an

nUOO000O0

007 (89)00000000

32 ODO0OOO0OOOO

321 00O

(88)

(89)

000000000000 0ooooodopp0OdO0OOCOOOODOOoOoDOOOn

DoooO
—fBH «— [un

21

(90)



Ul pbbO0OO0Ooobbbooon

000000 00000000: bbOoo

o0o0oobO0o0oDbO0o0o0ODbD 20000000D0O0O0ODOOODOOODOOOD
gooboboooobobboooobobboooobbooooboboogoboboo

gobboogobboooobb epdbbbooobbboobbbooobboon
ggoboboogoboboooooobboooobobobooooboboooobobooog
goooo

322 0ODO0OODOOOOODODOOOOD
m0000: p00O00O0 NOODDOOODODODODDODDOOODODDODOOODODOOO
ogn

gobboooobbdood pOoobbboooobbooobbboooboboon
gooodooooOoNOUODODOODOO0ODOODOO0ODOODOODOO pOoDOOO NDOD
gogobbbooobobboooooob
O0000000d0ooO0o0oodoogdoooooooDoooD™™pp0DOoOoOOOn
guobbboboooooobbbodoouobooobobboooobobbooooobobbo
oOo0obOT7T00000DO0O0O00DO0ODOO0ODO0O0U00ODODDOODOODDODOOD
gogoooobboooobboooooboboooobbooooobLbbooL0 phoog
ggoboboooobobbooooobbooobobobooooobooooboobooog
goobboooobobooo
pdo0ooogoooboboooooobboooobbboooobobobouooooono
ggoboboooobooooooobobooobobobuooooboboooobbooog
goooboooobD w00 bbooooboboooooo

mggoooooan:

1. (88) 00000 (89) 000000 (R0 x00D0O

2.0000 NOODOO
N = (n) (92)

gooo

22



3. (92) 000000000 NOOOO
4. 0000000 0ODOODOO30000ODO0O0ODODOODODOODOO NGO
oo

gbobOooOO0o0ob0ooOOoobOooDOobbo0obO vVvooboooDooboobooobobooo
ggobobooooboboboooobobboooobobobuoooobobboooobbooog
OO000O0o00DOoOoO0OooOoboooooD222000000000000000 VOO
goobboooobbtbooobobbdooobbbuoooob bbb bboog
0000000000 (n)0000000ooooo

000000000000000000000000000000000 (RYOODOO
0000000000000 00000O00000O0 NOOOODDOOO(¥2)oooOO
000(92)00000 p0000D0D0DUDDO0O0O0OO0O NODOOODO pOOOO0OODOOO
00(92)00000000000000 0000000000000 DDO0O0OOO0
oO0oOo0poOo0ooOOoO0oDbDOo0oOO0OobOOoO0obOObOO NODOOOOODOODDOODOo
goobooboood

0000000000 DOONDOODOOOODOOOODODOo310b0OoDO
gooboboooobbbooooobboooobboooobobbooooboboood
gogoboobooogooo

gobobooooobuoogooboooooboboooobbboooobooog

goobbdoooobbooobbtboomwoobbooobpbbooobbboood
000000000000000000000O 000000000000 oO0DO0
goooboobooboovooooobobob 2000000 bbooogobDoooboOoo
NOOOOOODODOODOODOOoOoOoOOoDOOoOoODOoDOOoOoDbDOoDOOoOoooDOoobOooDOoDo
OO0 NODODODOODOODOOOOoOOoOOoOOoOoOoooovOoOobobobobooboo
ggobobooooboboooooobobooooboboboooobobboooobobooog

008 0OD000O00DbO0DO0O0DO0O0DbOO0 =00000b0DbDO0oDbObODbOobOoOD
00(22)000000000000000O0O0UO0O pO NOODDOOOOUOOO

23



33 DO00oOoooong

JO T,V 0ODODOODOODODDOOODOOOOOBr, T,V 0000000
J=J(Bp,T,V)0O000(92)00 NO 000000000

Fa(N,T,V) = J(Bp, T, V) + uN (93)

00000000000J(8,,T,V)0 fp000000(92)000000u=w(N,T,V)
000000000F(N,7,V)0O NOOOOOOOOOOOOOO0O0O0000000
00000000000000000000000000000

00 Fg=Fg(N,T,V)0000000000

) (), (), (58, (), v o
(85 N,V op ﬁ,u+ op V.T op N,V+ op N,V 5

0001000 (80)0000002000 (89)00 (92)00000000000000

_u_n(98m 9By _
() ) e

5 ) (07,0 (@), (57) o (57)

=) =) +(% =) +(Z5) N 96
(8‘/ N, T ov w,T op V,T ov N,T ov N,T (56)
0001000 (85) 0000002000 (89)00 (92)00000000000000

o o
(5) v (5) wr (87)

(95) 00 (97) 000 (45) 00 (46)000000000000000 N — o0
F;— FOOODODODOOOOD (000)00000F =—kgTInZ, 00

ugn

e~ BH{a,pi})
Zy = /Wd%d%“'dpl“' (98)

00000 N!'ODDODOOD0ODDOOO00D00O00000O000D00O00D0O00 NOOO
000000(93)00000000000000000000000DDO000oO0OO
ogn

24



O000F;=FO00000000000D000OO00DO0OO0 pO (9)O0OO0O0OOO
0000000000000 0000O0U00o0Uo0oUoooUooUO(@)Uoo

oOF 8Fb) <8J) (8u> (8u>
=) =(=E) = (= 2Y 4 (2E) N+ 99
(8N>T,V ( ON TV o TV ON TV ON TV : (59

(89)00 (92)0000O0O0

_ I I _
= (5%),, * (a),, ru=n 00

009 00000000 (22)0000000000D0DO0O0OOOM3)UDLOO0O0OO
OO0000bOO0ObO0ooOOoO0oO0bOOobOobDOoboobooboboT,v,NOODO
0000000000000000000 (3)0000000DONDOUODODOO

ooooooog
3.4 JOO
Oooog*

JOO|T,V,u000 — FOOT,V,NOOO

oo0o0JOooOobDooooo

J(T,aV,u) =aJ(T,V, 1) (101)

(101) 00000 0000000

8J(T, X, )
A1) — J(T 102
V—3% s J(T,V, ) (102)
a=100000(85) 000
J(T,V,p) = —PV (103)

ooo0OoJoOOobOOoOobOOooOOoboooooDoooo

*2J007,V,p000000000p =(7,V,N)0OOODOOOT,V,NOOOOOOOOOJO
T,v,,00000000000000

25



3 DOOoOoood

(89)00(92) 00O (8) IO DODOODO

(§§Z) =-N (104)
8NMT
3J>
) =-p (105)
(5) |
000(93)000 J=F—uNOOOOJ=J(T,V,,)) 00000000000
oJ
— =-S5 106
(7). (106)
00 10: (66)00 (108)000000(106)000000000000(107)00000
gooogno
o0 3000000
dJ = —SdT — PdV — Ndy (107)
FOOOOOO
oOF
il - 108
(aN)VT g 10%)
gogdg
dF = —SdT — PdV + udN (109)

ggobobooooboboooooboboooboboboooooboooobbooog
gogoooood

G=F+VP (110)
dG = —SdT + VdP + pdN (111)

4 0000
00: 0000000000000000000000000000000000CO0

e JUUUUOODOODODODODOUUUOOOOOU
e OO UOODLDDOUOODODD

26



OO0O0000o 100 10b00o0ooo

godd: z0pddoooon
ooo0: {qg,p} = (z,p) 000 000 (ooooo)
00O Hﬁ !
gooooooooon

gdobobboooobbboooobbuoooobobboooon
gooobbbodoboooobbooooobbbooooobbboooobboo
ooo0ooOobOoobOOobOoboHFDbOObObOODOOD

Hon(z) = [_;‘—m (%) + V@) | 6x(2) = Bron(x) (112)

0000000000 ¢x(z) 0000000000 EODDOOUOOOOOOOODOO

000 O000: k=n=1,2,3,...
0000 OO0

godooooooboobobobobobbobobobooboboobobobboboooooooaaa
goobboooobobooouoboboo

D0DO0000D00O00 O (000)0 ¢e(z) 0000000 pe(k)D
00000000000000000 0O (000)0000»00000000¢00
00000 pg(n,k)O

O0O00k00000D0O0

pe(k) = Z;-e_ﬁEk (113)

1
py(n, k) = ZePExtoun (114)

e PEx (115)

N
I

e PEK+Bun (116)

k
n,k
O0: 0000000 30000000000 OOO0OOoObOOOoOoOoDooOoOOoa

E=20 (117)



po 00000000000 F>000000000000000

oooooooQ
K2 nmy2
B=o () (118)
o000 )
2 [/2n+1
000000000000
K2 T\ 2
E= o <O'3E> (120)

gooooooooo
goobooooooo

—552;(%2;1”>2]} (121)

ooon

1] 0000 LIIDO00DO000O00O00000o00ooooo
http://www.gakushuin.ac.jp/~881791 /statbook/
gbobooboobooboboboobooboboboboobobo1lobnoobo

2] 000D (0DOO0OO0 DO0O00)

OO000DbO0o0o IoDlIoboo00obO0bOooooDOooo

3] 0000000000 D 7“0O000" 00000 0DDOOOO
OooobOoobo Iooogo

4 00000000 0ODO0O0O00O0O0O0O0DOO0O0UO0O0OD 1000000000
ugoboboooobobooooonoo

1. 000000000000 (H. B. Callen: Thermodynamics and An Introduc-
tion to ThermostatisticsD 0000 O) (DO OO0, 1998, 1999)
2)000000000000D0000000UDOUR]UDUODODOOOOOOO
ugn

2. 000 —00000000(0DO0OD0O0DO0ODO0ODOODOODOOD0O 32)
ggoooooboboboobbbboodddoooobobobbboooooooooo
ugoboooobobboooooobobooaon

28



3. 00000 (booo oooooo)
gbooboboooboobo200b00bOobooon

4. 0000000 (E.O0D0O0 D0O0DOODO ODODODO)
goboboboooobbbooobobboooobbooooboo

29



